Prepared by	GC			p				
	No.: B-14-06	67-DB	Contract No.: C-14-044-DB	Pronto Sandblasting & Coating & Oilfield		on		
			SAN ANTONIO WATER SYSTEM	ng &	c. a 3223	Atlas Construction, Corporation 312 Sunset Dr Granite Shoals, Tx 78654		
			P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS	Coati	Services, Co., Inc. 9456 South Presa San Antonio, TX 78223	n, Cor et Dr , Tx 7		
PROPOSAL:			2014 Water Work Order	ing &	ices, C 5 Souti tonio,	ructio	las Construction, Cor 312 Sunset Dr Granite Shoals, Tx	
			Construction Project Job No 14-4005	dblast	Servi 9456 an Ant	Const	31.2 anite S	
TIME &			2:00 P.M.	o San	Š	Atlas	Gr	
D.A.WE			N 1 10 2014	Pront		·		
DATE:  Item No.	Estimate Qty	Unit of Issue	November 12, 2014  Description	Unit Price	Total	Unit Price	Total	
103.1	50	LF	Remove Concrete Curb	\$2.00	\$100.00	\$10.00	\$500.00	
103.3	200	SL	Remove Sidewalks and Driveways	\$5.00	\$1,000.00	\$10.00	\$2,000.00	
103.1	50	SL	Remove Miscellaneous Concrete	\$10.00	\$500.00	\$10.00	\$500.00	
202.1	20	GAL	Prime Coat	\$10.00	\$200.00	\$10.00	\$200.00	
203.1	10	GAL	Tack Coat	\$10.00	\$100.00	\$10.00	\$100.00	
205.4	1,000	SY	Hot Mix Asphaltic Pavement Type "D" (2" Pavement Thickness)	\$25.00	\$25,000.00	\$20.00	\$20,000.00	
205.4	1,000	SY	Hot Mix Asphaltic Pavement Type "D" (3" Pavement Thickness)	\$35.00	\$35,000.00	\$30.00	\$30,000.00	
206.1	300	SY	Asphalt Treated Base (12" Compacted Depth)	\$90.00	\$27,000.00	\$50.00	\$15,000.00	
208.1	1,000	SY	Salvage, Haul, Stockpile Reclaimable Asphalt Pavement (2" Depth)	\$20.00	\$20,000.00	\$20.00	\$20,000.00	
208.1	1,000	SY	Salvage, Haul, Stockpile Reclaimable Asphalt Pavement (3" Depth)	\$25.00	\$25,000.00	\$25.00	\$25,000.00	
247	25	CY	Flexible Base – Type A, Grade 1 with 2% Cement (TxDOT Spec)	\$80.00	\$2,000.00	\$50.00	\$1,250.00	
306.1	30	CY	Structural Excavation	\$30.00	\$900.00	\$50.00	\$1,500.00	
340	25	CY	HMAC Pavement Type "C" (TxDOT Spec)	\$210.00	\$5,250.00	\$250.00	\$6,250.00	
500.1	25	LF	Concrete Curb	\$30.00	\$750.00	\$30.00	\$750.00	
502.1	15	SY	Concrete Sidewalks - Conventionally Formed	\$70.00	\$1,050.00	\$100.00	\$1,500.00	
503.1	20	SY	Concrete Driveway	\$80.00	\$1,600.00	\$150.00	\$3,000.00	
503.2	20	SY	Concrete Driveway- Commercial	\$90.00	\$1,800.00	\$200.00	\$4,000.00	
503.4	20	SY	Asphaltic Concrete Driveway	\$30.00	\$600.00	\$75.00	\$1,500.00	
503.5	20	SY	Gravel Driveway	\$15.00	\$300.00	\$50.00	\$1,000.00	
504.1	10	SY	Concrete Median	\$80.00	\$800.00	\$150.00	\$1,500.00	
504.2	10	SY	Concrete Directional Island	\$100.00	\$1,000.00	\$150.00	\$1,500.00	
505.1	10	SY	Concrete Riprap (5" Thick)	\$100.00	\$1,000.00	\$125.00	\$1,250.00	
506.1	5	CY	Concrete Retaining Walls-Combination Type	\$720.00	\$3,600.00	\$1,000.00	\$5,000.00	
507.2	25	LF	Temporary Chain Link Wire Fence	\$14.00	\$350.00	\$50.00	\$1,250.00	
507.4	1	EA	Gates – Pedestrian	\$350.00	\$350.00	\$500.00	\$500.00	
507.5	1	EEA	Gates- Vehicular	\$750.00	\$750.00	\$2,000.00	\$2,000.00	
509.1	10	LF	Metal Beam Guard Rail	\$100.00	\$1,000.00	\$75.00	\$750.00	
510	2	EA	Timber Guard Posts	\$300.00	\$600.00	\$250.00	\$500.00	
511.4	10	SY	Replacing with Portland Cement Concrete Pavement – 16"	\$140.00	\$1,400.00	\$250.00	\$2,500.00	
513.1	1	EA	Removing and Relocating Mailboxes	\$300.00	\$300.00	\$1,000.00	\$1,000.00	
513.3	1	EA	Removing and Relocating Mailboxes (Masonry)	\$900.00	\$900.00	\$1,000.00	\$1,000.00	
515.1	50	CY	Top Soil (3")	\$30.00	\$1,500.00	\$75.00	\$3,750.00	
516.1	15	SY	Bermuda Sodding	\$10.00	\$150.00	\$30.00	\$450.00	
516.2	15	SY	St. Augustine Sodding	\$10.00	\$150.00	\$30.00	\$450.00	
518.1	5	EA	Shrubs	\$100.00	\$500.00	\$200.00	\$1,000.00	
518.2	15	SY	Landscaping/Flower Beds	\$50.00	\$750.00	\$50.00	\$750.00	
518.3	1	EA	Tree (3" Trunk Diameter)	\$700.00	\$700.00	\$1,000.00	\$1,000.00	
518.3	1	EA	Tree (6" Trunk Diameter)	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	
520.1	25	SY	Hydromulching (Residential or Commercial)	\$5.00	\$125.00	\$5.00	\$125.00	
530.1	5	EA	Barricades, Signs and Traffic Handling (1 per Work Order)	\$14,000.00	\$70,000.00	\$5,000.00	\$25,000.00	
535.1	20	LF	4 Inch Wide Yellow Line	\$10.00	\$200.00	\$10.00	\$200.00	
535.2	20	LF	4 Inch Wide White Line	\$10.00	\$200.00	\$10.00	\$200.00	
535.7	20	LF	24 Inch Wide White Line	\$18.00	\$360.00	\$25.00	\$500.00	
537.6	10	LF	Pavement Marker (Type I-C)	\$20.00	\$200.00	\$25.00	\$250.00	
537.8	10	LF	Pavement Marker (Type II-A-A)	\$20.00	\$200.00	\$50.00	\$500.00	
550	2,000	LF	Trench Excavation Safety Protection	\$1.00	\$2,000.00	\$2.00	\$4,000.00	

		CC							
POLYUSSAL   2014 Weat Wisk Older   2014			7 DR	Contract No : C 14 044 DR	ilfield		5		
MODIFICATION   CONTRIBUTION   CONT	Solicitation No.: B-14-06/-DB				0 %	23	ration 554		
PROPENDING   Construction Property   Construction Pr					ating	Inc. resa 7822	O CLIO	Dr x 780	
November 12, 2014   Statimate   Child   Statimate					<u>ن</u> چ	, Co., nuth P	ion, C mset I uls, Tx		
November 12, 2014   Statimate   Child   Statimate	PROPOSAL:				asting	rvices 56 Sc antoni	Statist	312 St 312 Sto	
November 12, 2014   Statimate   Child   Statimate				Job No 14-4005	sldbm	Ser 94 San A		3 3 rranite	
DATE	ΓIME &			2:00 P.M.	nto Sa	0.2	ΔHa	9	
Restumate   Desired   New   Section   Sectio	DATE:			November 12, 2014	Proi				
					Unit Price	Total	Unit Price	Total	
SS21   20				•	\$25.00	\$2,500,00	\$25.00	\$2,500.00	
Section   Sect	552.1	20	LF	Remove and Relocate Irrigation Systems				\$2,000.00	
554   200   SY   Session Control Matting (Including Seeding)   \$18.00   \$1.000   \$10.000   \$12.00000   \$12.0000	553	3	EA	Storm Water Pollution Prevention Plan				\$15,000.00	
S05   5	554	200	SY	Erosion Control Matting (Including Seeding)	·		·		
Section   Facility	805							\$2,000.00	
Section					\$2,000.00	\$10,000.00	\$2,500.00	\$12,500.00	
S14					\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
STORT   STOR				Water Service for Fire Line, All Sizes & Types	\$1,500.00	\$52,500.00	\$150.00	\$5,250.00	
818         500         LP         12" PVC Waterline (Restrained as Required)         \$70,000         \$35,000,00         \$65,00         \$32,000,00           818         400         LP         16" PVC Waterline (Restrained as Required)         \$100,00         \$30,000,00         \$15,00         \$36,000,00         \$15,00         \$36,000,00         \$15,00         \$36,000,00         \$15,00         \$36,000,00         \$30,000,00					\$110.00	\$11,000.00	\$85.00	\$8,500.00	
818         400         LF         16" PVC Waterline (Restrained as Required)         \$30,000,000         \$30,000,00         \$30,000         \$30,000         \$46,000,00         \$15,00         \$36,000         \$30,000,00         \$15,00         \$36,000         \$30,000,00         \$15,00         \$36,000         \$30,000,00         \$15,00         \$30,000         \$30,000,00         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$30,000         \$50,000         \$55,000<	818	1,000		_	\$60.00	\$60,000.00	\$55.00	\$55,000.00	
818         200         LF         20" PVC Waterline (Restrained as Required)         \$150,00         \$30,000,00         \$150,00         \$30,000,00         \$150,00         \$30,000,00         \$150,00         \$30,000,00         \$150,00         \$30,000,00 </td <td>818</td> <td>500</td> <td>LF</td> <td>12" PVC Waterline (Restrained as Required)</td> <td>\$70.00</td> <td>\$35,000.00</td> <td>\$65.00</td> <td>\$32,500.00</td>	818	500	LF	12" PVC Waterline (Restrained as Required)	\$70.00	\$35,000.00	\$65.00	\$32,500.00	
818         200         LF         24" PVC Waterline (Restrained as Required)         \$180.00         \$35,000.00         \$200.00         \$40,00           822         100         LF         Short Yard Piping         \$30.00         \$3,000.00         \$50.00         \$55,00           822         100         LF         Long Yard Piping         \$30.00         \$3,000.00         \$50.00         \$55,00           823         20         LF         Yard Piping — Direction Bore Method (All Sizes 3" Diameter and Si00.00         \$3,000.00         \$125,00         \$2,000.00         \$125,00         \$2,000.00         \$2,000.00         \$55,00         \$55,000.00         \$3,000.00         \$10,000.00         \$55,000.00         \$3,000.00         \$10,000.00         \$55,000.00         \$3,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$3,000.00	818	400	LF	16" PVC Waterline (Restrained as Required)	\$100.00	\$40,000.00	\$115.00	\$46,000.00	
822         100         LF         Short Yard Piping         \$30,000         \$3,000,00         \$50,000         \$50,000           822         100         LF         Long Yard Piping         \$30,000         \$3,000,00         \$50,000         \$55,000           823         20         LF         Yard Piping         Direction Bore Method (All Sizes 3" Diameter and S100,00         \$2,000,000         \$125,00         \$2,000,00           824         5         FA         Reconnect 3/4" Short Service         \$600,00         \$3,000,00         \$1,000,00         \$5,000,00           824         1         EA         Reconnect 3" Short Service         \$3,000,00         \$3,000,00         \$2,500,00         \$2,500,00         \$2,500,00         \$3,500,00	818	200	LF	20" PVC Waterline (Restrained as Required)	\$150.00	\$30,000.00	\$150.00	\$30,000.00	
S22	818	200	LF	24" PVC Waterline (Restrained as Required)	\$180.00	\$36,000.00	\$200.00	\$40,000.00	
S23   20	822	100	LF	Short Yard Piping	\$30.00	\$3,000.00	\$50.00	\$5,000.00	
823         20         LP         Smaller)         \$100.00         \$2,000.00         \$125.00         \$2,000.00         \$125.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$1,000.00         \$5,000.00         \$3,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$3,000.00         \$2,000.00         \$3,000.00 <t< td=""><td>822</td><td>100</td><td>LF</td><td></td><td>\$30.00</td><td>\$3,000.00</td><td>\$50.00</td><td>\$5,000.00</td></t<>	822	100	LF		\$30.00	\$3,000.00	\$50.00	\$5,000.00	
Sample   S	823	20	LF	1 0	\$100.00	\$2,000.00	\$125.00	\$2,500.00	
824         1         EA         Reconnect 6" Short Service         \$5,000.00         \$5,000.00         \$3,500.00         \$3	824	5	EA	Reconnect 3/4" Short Service	\$600.00	\$3,000.00	\$1,000.00	\$5,000.00	
824         1         EA         Reconnect 6" Short Service         \$5,000.00         \$5,000.00         \$3,500.00         \$3,500.00         \$3,500.00         \$3,500.00         \$3,500.00         \$3,500.00         \$5,000.00         \$5	824	1	EA	Reconnect 3" Short Service	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	
824         5         EA         Relay 3/4" Short Service         \$700.00         \$3,500.00         \$1,000.00         \$5,000.00           824         5         EA         Relay 3/4" Long Service         \$900.00         \$4,500.00         \$1,100.00         \$5.           824         5         EA         New 3/4" Short Service         \$700.00         \$3,500.00         \$1,000.00         \$5.           824         5         EA         New 3/4" Long Service         \$1,000.00         \$5,000.00         \$1,100.00         \$5.           824         3         EA         Relay 1" Short Service         \$900.00         \$2,700.00         \$1,100.00         \$3.           824         3         EA         Relay 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3.           824         2         EA         New 1" Short Service         \$900.00         \$1,800.00         \$1,100.00         \$2.           824         2         EA         New 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3.           824         2         EA         Relay 1 1/2" Short Service         \$1,200.00         \$2,400.00         \$1,500.00         \$3.           824         1 <t< td=""><td>824</td><td>1</td><td>EA</td><td>Reconnect 6" Short Service</td><td>\$5,000.00</td><td>\$5,000.00</td><td>\$3,500.00</td><td>\$3,500.00</td></t<>	824	1	EA	Reconnect 6" Short Service	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	
824         5         EA         Relay 3/4" Long Service         \$900.00         \$4,500.00         \$1,100.00         \$5.           824         5         EA         New 3/4" Short Service         \$700.00         \$3,500.00         \$1,000.00         \$5.           824         5         EA         New 3/4" Long Service         \$1,000.00         \$5,000.00         \$1,100.00         \$5.           824         3         EA         Relay 1" Short Service         \$900.00         \$2,700.00         \$1,100.00         \$3.           824         3         EA         Relay 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3.           824         2         EA         New 1" Short Service         \$900.00         \$1,800.00         \$1,100.00         \$2.           824         3         EA         New 1" Cong Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3.           824         2         EA         Relay 1 1/2" Short Service         \$1,200.00         \$2,400.00         \$1,500.00         \$3.           824         1         EA         Relay 1 1/2" Short Service         \$1,500.00         \$1,500.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00 <td< td=""><td>824</td><td>5</td><td>EA</td><td>Relay 3/4" Short Service</td><td></td><td></td><td></td><td>\$5,000.00</td></td<>	824	5	EA	Relay 3/4" Short Service				\$5,000.00	
824         5         EA         New 3/4" Short Service         \$700.00         \$3,500.00         \$1,000.00         \$5,000.00           824         5         EA         New 3/4" Long Service         \$1,000.00         \$5,000.00         \$1,100.00         \$5,000.00         \$1,100.00         \$5,000.00         \$1,100.00         \$5,000.00         \$1,100.00         \$5,000.00         \$1,100.00         \$6,000.00         \$1,200.00         \$3,600.00         \$1,200.00         \$1,200.00         \$1,200.00 <t< td=""><td>824</td><td>5</td><td>EA</td><td>Relay 3/4" Long Service</td><td></td><td></td><td>·</td><td>\$5,500.00</td></t<>	824	5	EA	Relay 3/4" Long Service			·	\$5,500.00	
824         5         EA         New 3/4" Long Service         \$1,000.00         \$5,000.00         \$1,100.00         \$5,           824         3         EA         Relay 1" Short Service         \$900.00         \$2,700.00         \$1,100.00         \$3,           824         3         EA         Relay 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,           824         2         EA         New 1" Short Service         \$900.00         \$1,800.00         \$1,100.00         \$2,           824         3         EA         New 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,200.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         \$3,600.00         <	824	5	EA	New 3/4" Short Service			·	\$5,000.00	
824         3         EA         Relay 1" Short Service         \$900.00         \$2,700.00         \$1,100.00         \$3,           824         3         EA         Relay 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$2,           824         2         EA         New 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$3	824	5	EA	New 3/4" Long Service	•			\$5,500.00	
824         3         EA         Relay I" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,800.00         \$1,200.00         \$3,600.00         \$1,200.00         \$2,824         \$2         EA         New I" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00	824	3	EA	Relay 1" Short Service			·	\$3,300.00	
824         2         EA         New 1" Short Service         \$900.00         \$1,800.00         \$1,100.00         \$2,           824         3         EA         New 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.0	824	3	EA	Relay 1" Long Service				\$3,600.00	
824         3         EA         New 1" Long Service         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00         \$1,200.00         \$3,600.00	824	2	EA	New 1" Short Service					
824         2         EA         Relay 1 1/2" Short Service         \$1,200.00         \$2,400.00         \$1,500.00         \$3,           824         1         EA         Relay 1 1/2" Long Service         \$1,500.00         \$1,500.00         \$2,000.00         \$2,           824         1         EA         New 1 1/2" Short Service         \$1,400.00         \$1,400.00         \$1,500.00         \$1,500.00         \$1,500.00         \$2,000.00	824	3	EA	New 1" Long Service			·	\$2,200.00	
824         1         EA         Relay 1 1/2" Long Service         \$1,500.00         \$1,500.00         \$2,000.00         \$2,				-			·	\$3,600.00	
824         1         EA         New 1 1/2" Short Service         \$1,400.00         \$1,400.00         \$1,500.00         \$1,500.00         \$1,800.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$2,0				,				\$3,000.00	
824         1         EA         New 1 1/2" Long Service         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$2,00								\$2,000.00	
824         1         EA         Relay 2" Short Service         \$1,500.00         \$2,000.00         \$2,500.00         \$2,000.00         \$2,500.00         \$2,000.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$2,500.00         \$2,500.00         \$3,000.00         \$3,000.00         \$2,000.00         \$2,500		_			·		·	\$1,500.00	
824         1         EA         Relay 2" Long Service         \$2,000.00         \$2,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$2,000.							,	\$2,000.00	
824 1 EA New 2" Short Service \$1,800.00 \$1,800.00 \$2,500.00 \$2,500.00 \$2,500.00								\$2,500.00	
\$1,000.00 \$1,000.00 \$2,000.00 \$2,		_		, ,				\$3,000.00	
					\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	
					\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	
					\$700.00	\$700.00	\$1,000.00	\$1,000.00	
					\$800.00	\$800.00	\$1,200.00	\$1,200.00	
					\$900.00	\$900.00	\$1,100.00	\$1,100.00	
					\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	
					\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	
					\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	
		1	EA		\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	
824 1 EA Relocate 2" Long Service \$2,100.00 \$2,100.00 \$3,000.00 \$3,000.00	824	1	EA	Relocate 2" Long Service	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00	
824 1 EA New 4" Short Service \$12,000.00 \$12,000.00 \$3,000.00 \$3,000.00	824	1	EA	New 4" Short Service	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00	
824 1 EA New 4" Long Service \$12,000.00 \$12,000.00 \$3,500.00 \$3,	824	1	EA	New 4" Long Service	\$12,000.00	\$12,000.00	\$3,500.00	\$3,500.00	

				<u> </u>			1		
Prepared by		57-DR	Contract No.: C-14-044-DB	Pronto Sandblasting & Coating & Oilfield		а			
Solicitation No.: B-14-067-DB			SAN ANTONIO WATER SYSTEM	8 0	23	ratior 554			
			P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449	oating	Services, Co., Inc. 9456 South Presa San Antonio, TX 78223	Corpe	Dr 'x 78654		
PD ODOG 44			TABULATION OF BIDS	38.5	Services, Co., Inc. 9456 South Presa n Antonio, TX 782	tion,	unset als, T		
PROPOSAL:			2014 Water Work Order Construction Project	asting	rvices 156 Sc Anton	Atlas Construction, Corporation 312 Sunset Dr Granite Shoals, Tx 78654			
			Job No 14-4005	andbl	Se 94 San 4	s Con 3 ranite			
TIME &			2:00 P.M.	nto S.	nto Se		Atla		
DATE:			November 12, 2014	Pro					
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total		
824	1	EA	Relay 4" Short Service	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00		
824	1	EA	Relay 4" Long Service	\$2,700.00	\$2,700.00	\$3,500.00	\$3,500.00		
824	1	EA	Relocate 4" Long Service	\$2,700.00	\$2,700.00	\$3,000.00	\$3,000.00		
824	1	EA	Relocate 4" Short Service	\$2,700.00	·	\$3,500.00			
824	1	EA	New 6" Short Service	·	\$2,400.00		\$3,500.00		
824	1	EA	New 6" Long Service	\$14,500.00	\$14,500.00	\$3,500.00	\$3,500.00		
824	1	EA	Relay 6" Short Service	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00		
824	1	EA	Relay 6" Long Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00		
				\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00		
824	1	EA	Relocate 6" Long Service	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00		
824	1	EA	Relocate 6" Short Service	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00		
824	1	EA	New Unmetered 3/4" Short Service	\$800.00	\$800.00	\$1,000.00	\$1,000.00		
824	1	EA	New Unmetered 3/4" Long Service	\$900.00	\$900.00	\$1,100.00	\$1,100.00		
824	1	EA	New Unmetered 1" Short Service	\$900.00	\$900.00	\$1,100.00	\$1,100.00		
824	1	EA	New Unmetered 1" Long Service	\$1,300.00	\$1,300.00	\$1,200.00	\$1,200.00		
824	1	EA	New Unmetered 1 1/2" Short Service	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00		
824	1	EA	New Unmetered 1 1/2" Long Service	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00		
824	1	EA	New Unmetered 2" Short Service	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00		
824	1	EA	New Unmetered 2" Long Service	\$2,700.00	\$2,700.00	\$3,000.00	\$3,000.00		
824	1	EA	New Unmetered 4" Short Service	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00		
824	1	EA	New Unmetered 4" Long Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00		
824	1	EA	New Unmetered 6" Short Service	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00		
824	1	EA	New Unmetered 6" Long Service	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00		
824	100	LF	New 2" SCH 80 Conduit for Water Service	\$30.00	\$3,000.00	\$75.00	\$7,500.00		
824	100	LF	2" Bore for 2" SCH 80 PVC Conduit for Water Service	\$120.00	\$12,000.00	\$125.00	\$12,500.00		
826	3	EA	Valve Box Adjustment	\$300.00	\$900.00	\$2,500.00			
828	1	EA	6" Gate Valve				\$7,500.00		
828	4	EA	8" Gate Valve	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00		
828	1	EA	10" Gate Valve	\$1,800.00	\$7,200.00	\$2,000.00	\$8,000.00		
828	3	EA	12" Gate Valve	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00		
828	2	EA	16" Gate Valve	\$2,700.00	\$8,100.00	\$2,800.00	\$8,400.00		
				\$8,000.00	\$16,000.00	\$3,500.00	\$7,000.00		
830	1	EA	20" Butterfly Valve	\$12,000.00	\$12,000.00	\$13,000.00	\$13,000.00		
830	1	EA	24" Butterfly Valve	\$14,000.00	\$14,000.00	\$16,000.00	\$16,000.00		
831	1	EA	8" x 6" Tee Cut In	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00		
831	1	EA	8" x 8" Tee Cut In	\$1,400.00	\$1,400.00	\$1,700.00	\$1,700.00		
831	1	EA	8" x 10" Tee Cut In	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00		
831	1	EA	12" x 8" Tee Cut In	\$1,700.00	\$1,700.00	\$2,100.00	\$2,100.00		
831	1	EA	12" x 10" Tee Cut In	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00		
831	1	EA	12" x 12" Tee Cut In	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		
831	1	EA	16" x 8" Tee Cut In	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00		
831	1	EA	16" x 12" Tee Cut In	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00		
831	1	EA	16" x 16" Tee Cut In	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00		
831	1	EA	20" x 8" Tee Cut In	\$4,000.00	\$4,000.00	\$3,300.00	\$3,300.00		
831	1	EA	20" x 12" Tee Cut In	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00		
831	1	EA	20" x 16" Tee Cut In	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00		
831	1	EA	20" x 20" Tee Cut In	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00		
831	1	EA	24" x 8" Tee Cut In						
				\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00		

Prepared by	GC			p			
Solicitation No.: B-14-067-DB Con			Contract No.: C-14-044-DB	Oilfie		uo	
			SAN ANTONIO WATER SYSTEM P. O. BOX 2449	Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223 Atlas Construction, Corporation 312 Sunset Dr Granite Shoale, Tr. 78654			r 78654
			SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS	andblasting & Coating & Services, Co., Inc. 9456 South Presa San Antonio, TX 78223			312 Sunset Dr te Shoals, Tx 7
PROPOSAL:			2014 Water Work Order	ing &	ices, C i Souti ionio,	ructio	312 Sunset D Granite Shoals, Tx
			Construction Project Job No 14-4005	dblast	Servi 9456 un Ant	Const	31.2 anite S
TIME &			2:00 P.M.	o San	Š	Atlas	Gra
D.A.TE			N 1 12 2014	Pront		·	
DATE:  Item No.	Estimate	Unit of Issue	November 12, 2014  Description	Unit Price	Total	Unit Price	Total
831	Qty 1	EA	24" x 12" Tee Cut In				
831	1	EA	24" x 16" Tee Cut In	\$4,500.00	\$4,500.00	\$3,700.00	\$3,700.00 \$3,900.00
831	1	EA	24" x 20" Tee Cut In	\$5,000.00 \$5,000.00	\$5,000.00	\$3,900.00	
831	1	EA	24" x 24" Tee Cut In	\$6,200.00	\$5,000.00 \$6,200.00	\$4,700.00 \$5,000.00	\$4,700.00 \$5,000.00
832	1	EA	12" x 8" Tapping Sleeves and Valves	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00
832	1	EA	16" x 8" Tapping Sleeves and Valves	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
832	1	EA	16" x 12" Tapping Sleeves and Valves	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00
832	1	EA	20" x 8" Tapping Sleeves and Valves	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00
832	1	EA	20" x 12" Tapping Sleeves and Valves	\$6,500.00	\$6,500.00	\$6,000.00	\$6,000.00
832	1	EA	20" x 16" Tapping Sleeves and Valves	\$11,500.00	\$11,500.00	\$10,000.00	\$10,000.00
832	1	EA	24" x 8" Tapping Sleeves and Valves	\$4,500.00		\$5,000.00	\$5,000.00
832	1	EA	24" x 12" Tapping Sleeves and Valves	\$6,500.00	\$4,500.00 \$6,500.00	\$6,500.00	\$5,000.00
832	1	EA	24" x 16" Tapping Sleeves and Valves		\$12,500.00		
832	1	EA	24" x 20" Tapping Sleeves and Valves	\$12,500.00 \$23,000.00	\$12,300.00	\$11,000.00 \$20,000.00	\$11,000.00 \$20,000.00
832	1	EA	24" x 30" Tapping Sleeves and Valves	\$25,000.00	\$25,000.00	\$20,000.00	\$30,000.00
832	1	EA	24" x 48" Tapping Sleeves and Valves	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00
833	10	EA	Existing Meter and (New Meter) Box Relocation	\$400.00		\$50,000.00	
833	10	EA	Meter Box	\$300.00	\$4,000.00 \$3,000.00	\$500.00	\$5,000.00 \$5,000.00
834	4	TON	Fire Hydrant				
836	6	EA	Pipe Fittings (All Sizes & Types)	\$5,500.00	\$22,000.00	\$5,000.00	\$20,000.00 \$48,000.00
840	5	EA	8" Water Tie-In	\$5,200.00 \$1,800.00	\$31,200.00 \$9,000.00	\$8,000.00 \$1,500.00	\$7,500.00
840	4	EA	12" Water Tie-In				
840	4	EA	16" Water Tie-Ins	\$2,400.00 \$3,500.00	\$9,600.00 \$14,000.00	\$2,500.00 \$3,500.00	\$10,000.00 \$14,000.00
840	1	EA	20" Water Tie-Ins	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00
840	1	EA	24" Water Tie-Ins	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
841	5	EA	Hydrostatic Testing	\$2,400.00	\$12,000.00	\$5,000.00	
844	2	EA	2" Blow-off, Permanent	\$2,400.00	\$5,000.00	\$2,500.00	\$25,000.00 \$5,000.00
844	2	EA	2" Blow-off, Temporary	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
844	1	EA	4" Blow-off, Permanent	\$12,000.00	\$12,000.00	\$1,000.00	\$12,000.00
844	1	EA	4" Blow-off, Temporary	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00
846	3	EA	1" Air Release Assemblies	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00
846	1	EA	2" Air Release Assemblies	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
856.1	200	LF	Jacking, Boring, or Tunneling 24"	\$240.00	\$48,000.00	\$300.00	\$60,000.00
856.1	100	LF	Jacking, Boring, or Tunneling 30"	\$300.00	\$30,000.00	\$350.00	\$35,000.00
856.1	100	LF	Jacking, Boring, or Tunneling 36"	\$360.00	\$36,000.00	\$450.00	\$45,000.00
856.1	100	LF	Jacking, Boring, or Tunneling 42"	\$420.00	\$42,000.00	\$500.00	\$50,000.00
856.2	200	LF	8" Carrier Pipe for Jacking, Boring, or Tunneling	\$80.00	\$16,000.00	\$100.00	\$20,000.00
856.2	100	LF	12" Carrier Pipe for Jacking, Boring, or Tunneling	\$90.00	\$9,000.00	\$125.00	\$12,500.00
856.2	100	LF	16" Carrier Pipe for Jacking, Boring, or Tunneling	\$120.00	\$12,000.00	\$150.00	\$15,000.00
856.2	100	LF	24" Carrier Pipe for Jacking, Boring, or Tunneling	\$250.00	\$25,000.00	\$250.00	\$25,000.00
856.3	200	LF	Steel Casing 24"	\$120.00	\$24,000.00	\$125.00	\$25,000.00
856.3	100	LF	Steel Casing 30"	\$150.00	\$15,000.00	\$200.00	\$20,000.00
856.3	100	LF	Steel Casing 36"	\$200.00	\$20,000.00	\$250.00	\$25,000.00
856.3	100	LF	Steel Casing 42"	\$250.00	\$25,000.00	\$350.00	\$35,000.00
858	30	CY	Concrete Encasement	\$180.00	\$5,400.00	\$200.00	\$6,000.00
1015	1	EA	3/4" & 1" Service Line Leak/Break Repair, all types	\$500.00	\$5,400.00	\$2,500.00	\$2,500.00
		1	I > AI	\$500.00	\$500.00	\$2,500.00	\$2,500.00

Prepared by	GC			eld			
Proposal:  TIME &  DATE:			Contract No.: C-14-044-DB SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS 2014 Water Work Order Construction Project Job No 14-4005 2:00 P.M.	Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		Atlas Construction, Corporation 312 Sunset Dr Granite Shoals, Tx 78654	
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total
1015	1	EA	1.5" & 2" Service Line Leak/Break Repair, all types	\$800.00	\$800.00	\$3,000.00	\$3,000.00
1020	1	EA	6-inch Main Break/Leak Repair, all types	\$1,200.00	\$1,200.00	\$3,500.00	\$3,500.00
1020	1	EA	8-inch Main Break/Leak Repair, all types	\$1,600.00	\$1,600.00	\$4,000.00	\$4,000.00
1020	1	EA	10-inch Main Break/Leak Repair, all types	\$1,800.00	\$1,800.00	\$4,500.00	\$4,500.00
1020	2	EA	12-inch Main Break/Leak Repair, all types	\$2,800.00	\$5,600.00	\$5,000.00	\$10,000.00
1020	1	EA	16-inch Main Break/Leak Repair, all types	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00
1020	1	EA	20-inch Main Break/Leak Repair, all types	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
1020	1	EA	24-inch Main Break/Leak Repair, all types	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00
1040	50	LF	4" Temporary Waterline (Restrained as Required)	\$40.00	\$2,000.00	\$50.00	\$2,500.00
1040	50	LF	8" Temporary Waterline (Restrained as Required)	\$90.00	\$4,500.00	\$100.00	\$5,000.00
2026	800	LF	Directional Drill 12" O.D. HDPE Pipe (DR 9)(200 PSI) (IPS)	\$290.00	\$232,000.00	\$400.00	\$320,000.00
3000	100	LF	Removal, Transportation, and Disposal of A.C. Pipe (All Pipe Sizes) (Includes Asbestos Abatement Work Plan, if required)	\$30.00	\$3,000.00	\$80.00	\$8,000.00
4000	500	LF	Pipe Bursting of an 8" Water Main (DR11 I.P.S)	\$170.00	\$85,000.00	\$300.00	\$150,000.00
4000	500	LF	Pipe Bursting of a 12" Water Main (DR11 I.P.S)	\$220.00	\$110,000.00	\$400.00	\$200,000.00
4438	100	CY	Flowable Backfill (TxDOT Spec.)	\$150.00	\$15,000.00	\$200.00	\$20,000.00
9101.1	1,000	LF	Grout and Abandon Existing 12" Water Main	\$20.00	\$20,000.00	\$25.00	\$25,000.00
9101.2	50	LF	Existing 12" Steel Water Main Removal	\$50.00	\$2,500.00	\$100.00	\$5,000.00
	RICE AMOU R DAYS TO		TE		<b>\$1,983,635.00</b> 365		<b>\$2,267,825.00</b> 365
-					[1]		[2]